NIINO, K. KODAI MATH. SEM. REP 25 (1973), 429–434

ON THE GROWTH RATE OF COMPOSITIONS OF ENTIRE FUNCTIONS

By Kiyoshi Niino

1. Let f(z) be an entire function, M(r, f) its maximum modulus on |z|=r and T(r, f) its Nevanlinna characteristic function. Recently Gross and Yang [4] proved the following:

Suppose that f(z), g(z) are entire functions such that

(1.1) $T(\alpha r, g) = o\{T(r, f)\} \quad as \quad r \to \infty$

for some constant $\alpha > 1$. Then for any non-constant entire function h(z),

 $T(r, h \circ g) = o\{T(r, h \circ f)\}$ as $r \to \infty$

In this paper we shall consider the asymptotic behavior of the ratio $\log M(r, h \circ g)/\log M(r, h \circ f)$ replacing $T(r, \cdot)$ by $\log M(r, \cdot)$ in the above condition (1.1).

Our results are the following:

THEOREM 1. Let g(z) and f(z) be entire functions such that

(1.2)
$$\lim_{r \to \infty} \frac{\log M(\alpha r, g)}{\log M(r, f)} = 0$$

for some constant $\alpha > 1$. Then for any non-constant entire function h(z),

$$\lim_{r\to\infty}\frac{\log M(r, h\circ g)}{\log M(r, h\circ f)}=0.$$

THEOREM 2. Let g(z) and f(z) be entire functions such that

(1.3)
$$\lim_{r \to \infty} \frac{\log M(r, g)}{\log M(r, f)} = 0.$$

Then for any non-constant entire function h(z),

$$\lim_{r\to\infty}\frac{\log M(r,h\circ g)}{\log M(r,h\circ f)}=0.$$

Received November 28, 1972.

THEOREM 3. Let g(z) and f(z) be entire functions satisfying (1.3). Suppose that f(z) is of finite order. Then for any non-constant entire function h(z),

$$\lim_{r \to \infty} \frac{\log M(r, h \circ g)}{\log M(r, h \circ f)} = 0.$$

The next Theorem deals with the possibility still left open in Theorem 2.

THEOREM 4. There exist entire function g(z) and f(z) such that

$$\lim_{r\to\infty} \frac{\log M(r, g)}{\log M(r, f)} = 0 \quad and \quad \lim_{r\to\infty} \frac{\log M(r, \exp\circ g)}{\log M(r, \exp\circ f)} = \infty.$$

2. Lemmas. We start from the following lemmas which will be used in the proof of our Theorems.

LEMMA 1 ([3, 5, 6, 7]). Let h(z) and f(z) be entire with f(0)=0. Let ρ satisfy $0 < \rho < 1$ and let $c(\rho) = (1-\rho)^2/4\rho$. Then for $r \ge 0$,

$$M(r, h \circ f) \geq M(c(\rho)M(\rho r, f), h).$$

LEMMA 2 ([1, 3]). Let h(z) and f(z) be entire. Then

$$M(r, h \circ f) \ge M((1+o(1))M(r, f), h) \qquad as \quad r \to \infty,$$

outside a set of r of finite logarithmic measure which depends, as does o(1), on f(z).

LEMMA 3. For any transcendental entire function f(z), there exists an entire function g(z) such that

(2.1)
$$\lim_{r \to \infty} \frac{\log M(r, g)}{\log M(r, f)} = 0 \quad and \quad \lim_{r \to \infty} \frac{\log M(r, \exp \circ g)}{\log M(r, f)} = \infty.$$

Proof. Let f(z) be a transcendental entire function. Then Hadamard's threecircle theorem asserts that $\log M(r, f)$ is a convex, increasing function of $\log r$. Hence, by the well-known property of logarithmically convex function,

(2.2)
$$\log M(r, f) = \log M(r_0, f) + \int_{r_0}^r \frac{\psi(t)}{t} dt \qquad (r \ge r_0),$$

where $r_0 > 0$ and $\phi(t)$ is a non-negative, non-decreasing function of t. Since f(z) is transcendental, we have

(2.3)
$$\lim_{r\to\infty}\frac{1}{\log r}\int_{r_0}^r\frac{\phi(t)}{t} dt = \infty \quad \text{and} \quad \lim_{t\to\infty}\phi(t) = \infty.$$

We put

(2.4)
$$\phi(r) = \sup_{r_0 \le t \le r} \frac{\phi(t)}{\log \log t} \quad (r_0 > e) \qquad \text{when} \quad \overline{\lim_{t \to \infty} \frac{\phi(t)}{\log t}} = \infty$$

and

(2.5)
$$\phi(r) = \sup_{r_0 \le t \le r} \frac{\psi(t)}{\log \psi(t)} \quad (\psi(r_0) > 1) \quad \text{when} \quad \overline{\lim_{t \to \infty} \frac{\psi(t)}{\log t}} < \infty$$

Then it follows from (2.3), (2.4) and (2.5) that $\phi(r)$ is non-decreasing and

(2.6)
$$\lim_{r \to \infty} \phi(r) = \infty \quad \text{and} \quad \lim_{r \to \infty} \frac{\phi(r)}{\psi(r)} = 0.$$

Put

$$\Phi(r) = \int_{r_0}^r \frac{\phi(t)}{t} dt \qquad (r \ge r_0).$$

Then we obtain

(2.7)
$$\lim_{r \to \infty} \frac{\Phi(r)}{\log M(r, f)} = 0$$

and

(2.8)
$$\lim_{r\to\infty}\frac{\varPhi(r)^2}{\log M(r,f)}=\infty.$$

In fact, it follows from (2.3) and (2.6) that

$$\lim_{r\to\infty} \frac{\varPhi(r)}{\log M(r,f)} = \lim_{r\to\infty} \left(\int_{r_0}^r \frac{\phi(t)}{t} dt \middle| \int_{r_0}^r \frac{\psi(t)}{t} dt \right) \leq \lim_{r\to\infty} \frac{\phi(r)}{\psi(r)} = 0,$$

which implies (2.7). Next taking (2.4) and (2.5) into account, we get

$$\Phi(r)^2 \ge \frac{1}{K(\log\log r)^2} \int_{r_0}^r \frac{\psi(t)}{t} dt \cdot \int_{r_0}^r \frac{\psi(t)}{t} dt$$

with a suitable constant K. Hence (2.8) follows from (2.2), (2.3) and the above inequality.

Now, the definition of $\Phi(r)$ and (2.6) yield that $\Phi(r)$ is increasing and convex in $\log r$ and $\Phi(r) \neq O(\log r)$ $(r \to \infty)$. Hence Clunie's theorem [2] asserts that there exists an entire function g(z) such that

$$M(r, g) = \max_{|z|=r} \operatorname{Re} g(z)$$

and

(2.9)
$$\log M(r, g) \sim \Phi(r) \qquad (r \to \infty).$$

and consequently

$$\log M(r, \exp \circ g) = \exp(\log M(r, g))$$

(2.10)

$$\geq \frac{1}{2} (\log M(r,g))^2 \sim \frac{1}{2} \Phi(r)^2 \qquad (r \rightarrow \infty).$$

KIYOSHI NIINO

Therefore (2.1) follows from (2.7), (2.8), (2.9) and (2.10).

3. Proof of Theorem 1. Choose $\rho > 0$ such that $\alpha > 1/\rho > 1$ and assume, for convenience, that f(0)=0. The case $f(0)\neq 0$ can be dealt with as in the proof of Theorem 1 in [3]. Then

$$\underbrace{\lim_{r \to \infty} \frac{\log M(\alpha r, g)}{\log M(r, f)}}_{r \to \infty} \cong \underbrace{\lim_{r \to \infty} \frac{\log M(r/\rho, g)}{\log M(r, f)}}_{r \to \infty} = \underbrace{\lim_{r \to \infty} \frac{\log M(r, g)}{\log M(\rho r, f)}}_{= \underbrace{\lim_{r \to \infty} \frac{\log M(r, g)}{\log M(\rho r, f) + \log c(\rho)}}_{= \underbrace{\lim_{r \to \infty} \frac{\log M(\rho r, f)}{\log M(\rho r, f) + \log c(\rho)}}}$$

and so from the condition (1.2)

(3.1)
$$\lim_{r \to \infty} \frac{\log M(r, g)}{\log c(\rho) M(\rho r, f)} = 0.$$

Hence there is $r_0 > 0$ such that for all $r > r_0$

$$(3.2) M(r, g) < c(\rho) M(\rho r, f).$$

 $\log M(r, h)$ is an increasing convex function of $\log r$, so that $\log M(r, h)/\log r$ is finally increasing and hence Lemma 1 and (3.2) yield

$$\frac{\log M(r, h \circ g)}{\log M(r, h \circ f)} \leq \frac{\log M(M(r, g), h)}{\log M(c(\rho)M(\rho r, f), h)} \leq \frac{\log M(r, g)}{\log c(\rho)M(\rho r, f)}$$

for all large r. Therefore Theorem 1 follows from this inequality and (3.1).

4. Proof of Theorem 2. The condition (1.3) implies

(4.1)
$$\lim_{r \to \infty} \frac{\log M(r, g)}{\log (M(r, f)/2)} = 0$$

and so there exists $r_0 > 0$ such that for all $r > r_0$

(4.2)
$$M(r,g) < \frac{M(r,f)}{2}.$$

It follows from Lemma 2 that there is a set E of finite logarithmic measure such that

$$\log M(r, h \circ f) \ge \log M((1+o(1))M(r, f), h) \qquad r \to \infty; \ r \notin E.$$

Hence using (4.1) and (4.2) and noting that $\log M(r, h)/\log r$ is increasing we obtain

$$\frac{\log M(r, h \circ g)}{\log M(r, h \circ f)} \leq \frac{\log M(M(r, g), h)}{\log M((1+o(1))M(r, f), h)} \leq \frac{\log M(r, g)}{\log (1+o(1))M(r, f)}$$
$$\rightarrow 0 \quad \text{as} \quad r \rightarrow \infty; \ r \notin E$$

432

and consequently

$$\lim_{r\to\infty}\frac{\log M(r,h\circ g)}{\log M(r,h\circ f)}=0,$$

which is the desired result.

5. Proof of Theorem 3. We may suppose, without loss of generality, that f(0)=0 (cf. [3]). Let λ be the order of f(z). Take β such that $\beta > \lambda - 1$. Since $\log M(r, f)$ is convex in $\log r$, we get

(5.1)
$$\log M(r, f) \sim \log M(r - r^{-\beta}, f) \qquad (r \to \infty)$$

(cf. [3]). Hence (1.3) and (5.1) imply

(5.2)
$$\lim_{r \to \infty} \frac{\log M(r, g)}{\log (r^{-2(1+\beta)}M(r-r^{-\beta}, f)/4)} = 0$$

We put $\rho = (r - r^{-\beta})/r$. Then we have $c(\rho) > r^{-2(1+\beta)}/4$. Hence it follows from Lemma 1 and (5.2) that

$$\begin{split} \frac{\log M(r, h \circ g)}{\log M(r, h \circ f)} &\leq \frac{\log M(M(r, g), h)}{\log M(r^{-2(1+\beta)}M(r-r^{-\beta}, f)/4, h)} \\ &\leq \frac{\log M(r, g)}{\log (r^{-2(1+\beta)}M(r-r^{\beta}, f)/4)} \to 0 \quad (r \to \infty), \end{split}$$

from which Theorem 3 follows.

6. Proof of Pheorem 4. Let f(z) be a transcendental entire function such that

(6.1)
$$\overline{\lim_{r\to\infty}\frac{\log M(r, f)}{\log M(r, \exp\circ f)}} = \infty.$$

The existence of such a function f(z) was shown by Clunie [3]. For the entire function f(z), from Lemma 3, there exists an entire function g(z) satisfying (2.1). The entire functions f(z) and g(z) are our desired functions. In fact, (2.1) and (6.1) imply

$$\overline{\lim_{r \to \infty}} \frac{\log M(r, \exp \circ g)}{\log M(r, \exp \circ f)} \ge \lim_{r \to \infty} \frac{\log M(r, \exp \circ g)}{\log M(r, f)} \overline{\lim_{r \to \infty}} \frac{\log M(r, f)}{\log M(r, \exp \circ f)} = \infty.$$

Thus the proof of Theorem 4 is complete.

References

- CLUNIE, J., The maximum modulus of an integral function of an integral function. Quart. J. Math. Oxford (2), 6 (1955), 176-178.
- [2] CLUNIE, J., On integral functions having prescribed asymptotic growth. Cana-

KIYOSHI NIINO

dian J. Math. 17 (1965), 396-404.

- [3] CLUNIE, J., The composition of entire and meromorphic functions. Mathematical Essays dedicated to A. J. Macintyre, pp. 75-92, Ohio Univ. Press (1970).
- [4] GROSS, F., AND C.-C. YANG, Some results on the growth rate of meromorphic functions. Arch. Math. 23 (1972), 278-284.
- [5] HAYMAN, W. K., Some applications of the transfinite diameter to the theory of functions. J. Analyse Math. 1 (1951), 155-179.
- [6] HAYMAN, W. K., Meromorphic functions. Oxford Math. Monogr. (1964).
- [7] PÓLYA, G., On an integral function of an integral function. J. London Math. Soc. 1 (1926), 12-15.

Faculty of Engineering, Yokohama National University.